
Krrraftcrra reopeMa rpo ocraqi (,u:. 8 ruac)

I l) floaecrrl, qo gx (m,n) = 1 pislticrr a = b

a=b (modm) ra a=b (modn).

r- 2) 3nafi:ru1 ocraqy 1414'o no uo4yruo 100.-r
-; 3) 3nafirra ocraqy 2245 norraorynro 35.

1 4) Posn)).rl3arl,I piunxnnr:
. l9x = 12 (mod 40)
. 5x +14 = 3x + 8 (mod 15)

. 67 x: 5e1o + 2s(mod 101)

[:x+17=0(mod23)
.t- 5) Poar>x:arrr cl4creMv j 14x + 8 = 6 (mod 16)

It3x=-5(mod l7)

k 6) 3uafirnsafiuemueHaryparrbHerraeJlo,-,{KsAae ocraqi 1,2,3,4 rIOMoAynrtr,t5,7,11,12.

. t- 7) IIpo qrcJro .x eiloN{o, r4o x2 saxiuuyerrcq Ha 00l. -flxntnrla Moxyu, 6yru ocranui 3 qu$prr
t qlrcla x.

i 8) 3nafitim eci rpuqp{tbpoei X, ulo ocraHHi 3 IIu$pH X2 crrisna1a}orb 3 .X.
h .{, icuye raxa necrinqenna noc:rigoesicrr uu&P a1,a2,a3,..., ulo,ulf goni:rsuoro n KBaWar

rrrrcJra enen-1...a2a1 zaxtw,tyerbc-rrHaqexqrrcilo?(Korrl6iirauiw q=1, 0-a2=a3=...
He po3nrrraenro).

+ 9) ,[nx xxux lz iuryrcrr 4,,..,b, se rci pinHi nrix co6oto, rqo rn, .qosircHoro HarypanbHoro

k ,tucro (b,+k)(b2+k) (bn+k) - creuinr HarypanbHoro qracra?

(mod mn) pinuoclanrrra cac:reui pirHourefi

$+Ol.{orecru, grr AorinrHoro Fr, icrryrorr lz uocni.{osnlrx qussJr, Koxue 3 ;IKLrx He € crerreHeM

Harypirnruoro tIriIgJIa 3 rrora3ullxoru > 1 .

{ l1)Hexffi 4,b2,..,bn - narypanrni qr{cJra dinsuri l. .{oaecra, qo icnye B ,uo Kox(He 3

qr{cefl BE,Bbz,...,Bbn € crerrsHeM ,ueflKoro rraryparrbnoro qr(cJla (a nora:uurou > 1).

t 12),{orecru, Ir1o cepe,q.{orinrnror 16 nocdaoBur.rx Harypilrlbnr'rx qscer e qficro
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